8. Aritmeétiska kvadratsakne
(atbildes parbaudes darbam)
1. variants

Aprékini! Atbildes pamato!

a)V144 =12
b)v3,24 =1,8

c)v/0,0169 =0,13

d) v—49 = neeksisté

e) V64 =64
f) v/0,04 = 0,2

leraksti daudzpunktes vietas pareizo atbildi!

a)Vv16=4
b) V625 =25
c) vneeksiste = -16
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Aprekini!

a) (21 —V64) + (10,04 —V144) — 0,32 = 1,11

1\2 2
b) (5) —V324x2 + 1=-1075



8. Aritmeétiska kvadratsakne
(atbildes parbaudes darbam)
2. variants

Aprékini! Atbildes pamato!

a)Vv1i21 =11
b) V1,44 = 1,2

c)v/0,0324 = 0,18

d) v—25 = neeksiste

e) V362 =36
f) /0,00 = 0,3

leraksti daudzpunktes vietas pareizo atbildi!

a) V256 =16
b)v81=9
c) vneeksisté = -4
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Aprékini!

a) (24 —V64) + (v/0,04 — V121) — 0,22 =5,16

1\2 2
b) (E) +V36Ix 2 — 4=-1,9



